BERRE INGEBRGAMTEE
r % b 1% - ek B 3 1 & = B E
EEIRE © 759, 125
EanEE 759,125
BAMBEE . 759,125
 RARRE - 740,125
BEAMBAE 740, 125
1 REEMEAEE 500 75, 810 © 379, 050’
) =
2 BEARIRES “5.00 72,215 © 361,075
= - -
BEiEZRHE 19,000
BR - 19,000
3 EBRRES ©1.00 19, 000 - 19,000
= ‘




BiEx ‘ : INE RS RAM T

% b BRAE - BkTiE B H = ] & B " =
EENRR _ © 759,125
wER .759, 125 % 87.2% — 1,082 660, 875
MREER 759,125 + 660, 875 "1, 420, 000
OREBMmE ' ‘ * 1, 420, 000
HRBSE LA 1,420,000 X 10. 00% ; 142, 000
MEEBR 1,420,000 + 142,000 * 1, 562, 000

1




REER-FEL/vr—

&5 1

L8 BEAMEE
. - o 5
| ZWBE

il Es ik

REBHF

O =
=

&5 :2

RN

L % o
B A

AIEBNE
ETE

| O =
= R

#S 3

&5 EHARE
; & {0
EBRRRE

&

| R - kTR
SARNY 2L

EX )]
fEgEES - 1. 00E

AE - TRtk

&{MJ%

 EEEES - 100

104 - Fok=Hi%

VEREH - 1. 00

>§> m

N

W

>

B

=

B

—t e |-
o o o
(— 2 [ — B [ —)

1.00

1.00]
1.00

B ‘
3, 560. 00
36, 900. 00,
34, 600. 00/

75, 060. 00

75, 810. 00,

B

36, 900. 00
34, 600. 00
~71,500.00
72, 215. 00

¥ @

19, 000. 00,
19, 000. 00|

&

.

NG EER AR E

=

3,560 2. 00H / 8H
36, 900
34,600
750,
75, 810,

36, 900
34, 600

715,
72,215

19,000
19, 000,

C1E%Y (@)

i &

185Y (1E)

RS

1
|

[EED,
" &



